RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Arizona Division of Emergency Management Hazard Mitigation Plan Agreement Letter)

RESOLUTION NO. 06-248

1	WHEREAS,	the United States Federal Emergency Management Agency directed the development
2		of the Disaster Mitigation Act of 2000 (DMA2K), which required that all state, county,
3		local and tribal governments develop a hazard mitigation plan in order to be eligible
4		for federal disaster funds in the event of a declared disaster; and
5	WHEREAS,	through the DMA2K, tribal nations are required to submit a hazard mitigation plan
6		to the state in which each tribal nation is located for review and to the Federal
7		Emergency Management Agency for final approval, if the tribal nations wish to
8		receive federal disaster funds in the event of a declared emergency; and
9	WHEREAS,	the Arizona Division of Emergency Management has been awarded a planning grant
10		to provide assistance to tribal nations in the development of their respective Hazard
11		Mitigation Plan and has provided the match requirement of twenty five percent
12		(25%) to administer this grant without any obligation to tribal nations; and
13	WHEREAS,	the Tohono O'odham Nation has been approached by the Arizona Division of
14		Emergency Management to be an end-user recipient of the above-mentioned
15		planning grant, which would provide contracted assistance in the development of
16		the Nation's Hazard Mitigation Plan, with no cost or financial obligation to the
17		Tohono O'odham Nation; and
18	WHEREAS,	the acceptance of this planning assistance requires the Nation to sign a Hazard
19		Mitigation Plan Agreement Letter, attached hereto; and
20	WHEREAS,	a delay in receiving the correct and appropriate information from the Arizona
21	·	Division of Emergency Management caused the deadline of the acceptance of the
22		Hazard Mitigation Plan Agreement Letter to pass; and
23	WHEREAS,	the Arizona Division of Emergency Management has submitted document at ion that
24		extends the deadline of the acceptance of the Hazard Mitigation Plan Agreement
25		Letter to April 28, 2006; and
26	WHEREAS,	the Office of Grants & Contracts, the Executive Office, and the Domestic Affairs
27		$Committee\ have\ reviewed\ the\ said\ Agreement\ Letter\ and\ recommend\ it\ for\ signature$
28		and, therefore, execution of the agreement which will provide for the assistance in
29		developing the Nation's Hazard Mitigation Plan.

	RESOLUTION NO. <u>06-248</u> (Approving the Arizona Division of Emergency Management Hazard Mitigation Plan Agreement Letter Page 2 of 3
1	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council approves the
2	Hazard Mitigation Plan Agreement Letter, attached hereto, with the Arizona Division
3	of Emergency Management as well as the deadline extension of April 28, 2006 and
4	authorizes the Vice-Chairman of the Tohono O'odham Nation to sign the Agreement or
5	behalf of the Nation.
6 7 8 9 10 11 12	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 7 TH . day of <u>APRIL</u> , 2006 at a meeting at which a quorum was present with a vote of <u>2,273.4</u> FOR; <u>-0-AGAINST -0-NOT VOTING</u> ; and <u>167.4 [05] ABSENT</u> , pursuant to the powers vested in the Council by Section <u>1(f)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
13	
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL
15	
16	$\langle A_{0,0,0} \rangle$.
17	Illiam hour
18	Evelyn B. Juan Manuel, Legislative Chairwoman
19	$\mathcal{L}_{\mathcal{L}}$
20	1th day of Opul, 2006
21	
22	ATTEST:
23	
24	June Jakes
25 26	Lucille Lopez, Acting Legislative Secretary
27	Lucine Lopez, Acting Legislative Secretary
28	
29	
30	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohon
31	O'Odham Nation on the 111 day of and, 2006 at 1:14 o'clock, P.M.
32	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
33	upon her approval or upon her failure to either approve or disapprove it within 48 hours o
34	submittal.
35	
36	TOHONO O'ODHAM LEGISLATIVE COUNCIL
37	
38	
39	Onella a Dia a mil
40	Evelyn B. Juan Manuel, Legislative Chairwoman
41	Lvelyh D. juan manuci, legislative Chan wullian
42	
43	
44	
45	
46	

	RESOLUTION NO. <u>06-248</u> (Approving the Arizona Division of Emergency Management Hazard Mitigation Plan Agreement Letter					
	Page 3 of 3	or Borrol manual and arms	1	i in ingle controlle accoury		
1	[\ APPROVED		Spail _	, 2006		
2 3	[] DISAPPROVED	at 1:5 o'clock,	.M.			
4	1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	at	····	\sim		
5		Municipal	hallkan	.//4 >		
6		- / VMMVY	MMMM	W		
7		VIVIAN JUAN-SAUNDERS		AN		
8 9		TOHONO O'ODHAM NATI	ON			
10						
11						
12						
13	Returned to the Legislative Secretar	y on the <u>//</u> day of				
14	Anal 3	2A				
15 16		<u> </u>				
17	,					
18	Juni Joka					
19	Lucille Lopez, Acting Legislative Sec	retary				
20						
21						
22						
23 24						
25						
26						
27						
28						
29 30						
30 31						
32						
33						
34						
35						
36 37						
38						
39						
40						
41						
42						
43 44						
45 46						

ACTION: APPROVING THE ARIZONA DIVISION OF EMERGENCY MANAGEMENT HAZARD MITIGATION PLAN

AGREEMENT LETTER

SECOND: COUNCILWOMAN GLORIA RAMIREZ MOVED: VICE CHAIRMAN VERLON JOSE

DATE: **APRIL 07, 2006**

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	FRANCES MIGUEL (Absent) (Vernon J. Smith) (Present)	155.40	X			
	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	X			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles) 2. CYNTHIA E. MANUEL	110.80	x			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	х			Х
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70				x
167.4	2. SANDRA ORTEGA	83.70				Х
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	x			
169.0	2. GLORIA RAMIREZ	84.50	Х			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	x			x
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	Х			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	x			
421.0	2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	х			
SIF OIDAK	1. WAVALENE SAUNDERS (Isidro Lopez)	93.35	x			
186.7	2. DARLENE ANDREW (Rita Martinez)	93.35	X			x
-	TOTAL	2,440.80	2,273.4	-0-	-0-	167.4[05]
**PASSED VOTES			L	<u> </u>	L	L

PASSED VOTES